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Directions: Answer each of the following.
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Lo 9 uid is the state of matter which has a definite volume but no definite shape.

Another name for a homogeneous mixture is a(n) ___ lut*' 1%

Can the elements in a compound be separated chhemical means? by physical (

means? > Yes p Mo !
List 2 intensive properties and 2 extensive properties. ‘
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Which of the following is the longest distance? @ 10% u m, or 106 Mm?

32°F = O °C= 2373 K
2cm +204.8 mm = 3 Tt mm
| 32 rvn)
Which of John Dalton’s postulates was incorrect about atomic theory? Why?
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Name an element which is:

a. agasand also a halogen (assumesrgom _}emperature) Bctons Mok ijBfJ Pov- ﬂu'fmyqd

b. ametalloid 8,351, Ge As, o6, e (=S Cisione. dispuvy

c. an alkaline earth metal Fallg,  Fusim R
BQI MSJ OCL'SV‘) BC;ng

i Thad

Write the empirical formula for glucoseL. S ()é /,tl 2 é)c @/éz\v—-«
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Write the formula for: Coyt
a polyatomic anion
a monatomic cation
any molecular compound
magnesium cyanide
nickel (IT) nitride — - N
hyponitrous acid 2 i 3 ¢
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Name each of the following;:
a. MnOg~  pevmamgan 1on G NBry Alvogyem

b. Cr(OH); d. NH4Cl
CAVUVV\\W @‘) Aad’“”;‘ch ; i

4

I Ou2+

‘\ons’

mo N o

”(‘Vcb}"c/M(CiL

e, Clalwida



Problems ,)
1.  Abug travels at the rate of 3.0 miles/hour. How fast is this in ™ /nsec? Hint:

2.54 cm =1 inch and 1 mile = 5,280 feet GC\B
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Diameter = 25.0 mm Calculate its density in g/ cm3.
Height = 59.0 cm
Mass=380g
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3. The concentration of CO in a room is 48 ug/m3. What mass (g) is present in a
room which measures 8.0 x 12.0 x 22 feet?
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4. Ben Franklin showed that 1 teaspoon of oil would cover about 0.50 acre of still

water. If you know that 1.0 x 104 m2 = 2.47 acres, and that there are 5.0 cm3in a
teaspoon, what is the thickness (in cm) of a layer of oil?
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